GREENCABLE ® HEAVY

4
RSK 291 CarlSiahl’

ARCHITEKTUR

G03-12-200

Gewindestift M12 x 200, A4-70
Adhesive anchor M12 x 200, AISI316
+

803-500
Injektionsmortel HIT-HY 200-A500/2
Injection mortar HIT-HY 200-A500/2

G03-02-001
Thermostop fiir Kragarmkonsole
Thermostop for cantilever bracket

G03-02-291
Kragarmkonsole 291mm. 1.4301
Cantilever bracket 291mm, AISI 304

Seilkonfektion 1S-0800

Rope assembly 1S-0800

Seil / rope: 830-0800

einseitig / one side: 670-0800
anderseits / other side: 681-0800
Material: 1.4401 / AISI316

863-0800
Leichter Klemmring,1.4401
Light clamp ring, AISI316

G02-02-002
Thermostop fiir Zwischenkonsole
Thermostop for middle bracket

G02-03-291
Zwischenkonsole 291mm, 1.4301
Middle bracket 291mm, AISI304

858-0800-07
Anschraubklemme mit Einlage
Screw on cross clamp with inlay
Material: 1.4401 / AISI316

922-0800
Stab @ 8mm, 1.4401
Rod @ 8mm, AISI316

896-1200-24
U-Scheibe ISO 7089 M12, A4
Washer ISO 7089 M12, AISI316

892-1200-02
Sicherungsmutter DIN 985 M12, A4
Lock nut DIN 985 M12, AISI316

GREENCABLE® DATENBLATT / DATA SHEET 05/2023



